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Physics

Mr. Gabrielse


Name: _____________________
Date: ______________________
Conservation of Energy
The mass of the pendulum is 0.25 kg.  

At A & E the pendulum is at rest.
For questions 1-3 you may select more than one position.
1. (2 pts) Where is the pendulum’s energy all kinetic energy (A, B, C, D, E)?

2. (2 pts) Where is the pendulum’s energy all gravitational potential energy (A, B, C, D, E)?

3. (2 pts) Where does the pendulum have the most energy (A, B, C, D, E)?
4. (2 pts) The velocity of the pendulum at position B is 1.17
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.  What is the kinetic energy?

5. (2 pts) What is the gravitational potential energy at position B?

6. (2 pts) What is the total energy at position B?
7. (2 pts) What is the total energy at position C?

8. (2 pts) What is the gravitational potential energy at position C?

9. (2 pts) What is the kinetic energy at position C?

10. One day a 12 kg monkey is sliding down a vine at 9
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 when it chokes on a banana and falls to the ground 23 m below.
a. (2 pts) What is the kinetic energy of the monkey before it falls?

b. (2 pts) What is the gravitational potential energy of the monkey before it falls?

c. (2 pts) What is the total energy of the monkey before it falls?
d. (1 pts) What is the total energy of the monkey when it’s about to hit the ground?

e. (1 pts) What is the potential energy of the monkey when it’s about to hit the ground?
f. (1 pts) What is the kinetic energy of the monkey when it’s about to hit the ground?

g. (2 pts) *What is the velocity of the monkey just when it’s about to hit the ground?
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* EC: you have to do algebra
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